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‘Repression’ means

1. forgetting dreams

2. intentional forgetting

3. forgetting by physical trauma
4. forgetting by advice
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‘On memory’ book was written by

1. Alport

2. Galton

3. Ebbinghaus

4. Stern
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As per learning curve select the correct statement

1. When Trails increases, errors decreases

2. Learning is in backward direction in positive curve
3. Learning is slow at initial stage

4. No relation between time and efficiency
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This is not a step in learning through observation
attention

1.

2. retention
3. performance
4. judgment
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Identify correct pair

1. Pavlov - Higher order conditioning
2. Skinner - law of frequency

3. Kohler - discovery learning

4. Vygotsky - perceptual organization
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One of the following is not positive reinforcement
1. gifts

2. appreciation
3. imitation
4. acceptance
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As per the theory of Identical elements the similarity between
these elements are helpful for smooth transfer of learning.
1. Learner, environment

2. Content, attitude, method
3. Content, process
4, Learner, content
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According to Thorndike this law supports homework

1. Law of learning
2. Law of readiness
3. Law of frequency

4. Law of effect
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10.

According to Freud, indentify the mismatched one

1. Id - Principle of happiness

2. ego - Principle of reality

3. super ego - Principle of ideal

4. Psycho sexual development - Principle of emotion
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The personality inventory developed by J.L. Morino is
1. Sociometry

2. Sentence completion
3. Children Apperception Test
4. Word association test
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Number of developmental stages in psycho social development
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l. 6
2 8
3. 10
4 12

The word ‘persona’ means
1. character

2 examination
3. mask

4 behaviour
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One of the following works for pedagogical model extension
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1. MOOCS

2. X - MOOCS
3. CMOOCS
4. STFCG

CRAP-I, APPLE-II computers are examples for this generation
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Identify the mismatched pair

1. John Holt - How children fail

2. Gijubhai - Pedagogy of the oppressed
3. A.S. Neil - The problem child

4. Makerenko - The book for parents
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In ‘IPOS’ cycle ‘P’ stands for
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processing
printing
painting

programming

‘A boy drew circle by using compass’ — According to
Thorndike the boy possess

1.
2.
3.
4,

Abstract intelligence
Mechanical intelligence
Social intelligence

Cultural intelligence
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Identify mismatched pair in the following

1.
2.
3.
4.

Sensory motor stage — birth to 2 years
Pre operational stage — 2 years to 7 years
Formal operational stage — 11 years on wards

Concrete operational stage — 12 years to 18 years
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One of the following is not related to self recognization

1.
2.
3.
4.

His opinion in himself
Understanding his own capacities
Individual decisions

Work culture
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‘Figure and Ground relationship’ concept was explained by
Rubin

1

2 Kohler

3. Chomsky

4 Alport
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This is useful to children to monitor their own thoughts and
learn effectively
1. Structural interviews

2. Anecdotal records
3. Reflective journals
4, Narratives
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“Children are suffering with Nature Deficit Disorder (NDD)
because of video games, mobiles etc” stated by this scientist
1. Richard Lov

2. Pavlov
3. Vygotksy
4. Wernan
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Babling stage in language development
1. 4 - 12 months
2. 1 - 14 months

3. 1 - 2 years
4, 0 - 6 months
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One of the following is not the principle of development

1. Development is a continuous process
2. Cumulative process

3. General to specific

4. Equal in all human beings
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‘The Vineland social maturity scale’ is example for
Questionnaire

Rating Scale

Interview
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Narrations
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According to the mining act of 1852 the children below this age

group are not allowed to work in mines
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“Higher expectations leads to better performance” is called
Pygmallion effect

Termallion effect

w b=

Cadmallion effect
4. Jockobson effect
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The book written by ‘Willard Waller’ is
1. The methodology of Teaching

2. The psychology of Teaching
3. The sociology of Teaching
4. Teaching and Society
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‘Social status of a family depends upon economical status’ Said

by

1. Erikson

2. Spera

3. Tagarten

4. Radke
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Children learn adjustments for social development at maximum

extent at

1. home

2. school

3. relatives

4. surroundings
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Telugu
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Telugu Methodology
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English

While cooking, use of oils to be reduced.

Choose the correct answer to fill in the blank.

1. are

2 is

3. had had
4 were

Two of my friends came here,

Choose the correct question tag.

l. are two?

2 don’t two?
3. didn’t they?
4 do they?

One student said that he had an attack of a headache.
The part ‘he had an attack of a headache’ is

1. a principal clause
2 a subordinate clause
3. an indirect clause
4 a reporting clause
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“To talk about a situation or an activity that started in the past
and has been in progress for a period until now” — we use

1. present continuous tense

2 past continuous tense

3. present perfect continuous tense
4 past perfect continuous tense

Read the following sentences carefully.
1) She opened the door.
1) The door opened.

Now, choose the correct statement.

1. ‘open’ can be used as a transitive verb only.
2. ‘open’ can’t be used as a transitive verb .
3. ‘open’ can be used as a transitive verb and an

intransitive verb also.

4. ‘open’ can’t be used in simple past.

Choose the correct sentence.

1. She is from the best girl [ know.

2 She is the most best girl I know.

3. She is the best girls I know.

4 She is one of the best girls I know.

Choose the sentence that indicates the informal way of taking

permission.
1. Can I make a telephone call?
2. Could you allow me use your phone?

3. May I take a telephone call?

4. Would you mind if I use your telephone?
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71.

They walked across the ice.

This sentence means

l.

2
3.
4

They were under ice.
They were on the ice.
They broke the ice into pieces.

They were in the ice.

A sentence with a main clause and three subordinate
clauses is called

1.
2
3.
4

He has lived next door to us for years,

a complex sentence
a compound sentence
a simple sentence

a coordinating sentence

ever see him.

Choose the word that links the two sentences.

l.

2
3.
4

that
therefore
yet

SO

All relative clauses are

1.

2
3.
4

main clauses
dependent clauses
if clauses

independent clauses
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75.

He played cricket yesterday.

Choose the passive voice for this sentence.

l.

2
3.
4

Cricket was played by him the previous day.
Cricket is played by him the previous day.
Cricket was played by them yesterday.
Cricket was played by him yesterday.

They reached their dwelling places hoping a bright morning
the next day.

‘Bright’ here means

1.

2
3.
4

full of light
dark

dull
gloomy

Identify the right pair of opposite words of the word ‘attentive’.

1.

2
3.
4

indifferent, deep
inattentive, unconcerned
immersed, intent

apathetic, focused

Choose the correct phrasal verb to the word underlined.

I requested him to investigate the matter.

l.

2
3.
4

give away
look at
look for

look into
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78.

79.

You are requested to join us for lunch.

Choose the correct article to complete the sentence above.

l.

2
3.
4

the
a
an

No article is needed

Neeraja goes to school everyday.

Choose the correct “Yes/No’ question.

l.

2
3.
4

Does Neeraja go to school everyday?
Does Neeraja goes to school everyday?
Is Neeraja goes to school everyday?

Has Neeraja go to school everyday?

Choose the correctly punctuated sentence.

l.

2
3.
4

Yes it is I shot it, said Devadutta
“Yes it is. I shot it,” said Devadutta.
“Yes it is, I shot it”, said devadutta

yes it is. I shot it. said Devadutta

Choose the subscription for an informal letter.

l.

2
3.
4

yours sincerely,
yours faithfully,
yours lovingly,

yours obediently,
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83.

Choose the number of vowel sounds out of 44 sounds
in English.

l. 20
2 24
3. 39
4 26

Choose the correct spelling of the word.

1. keroscene
2 kerasene
3. kerosene
4 kerascene

Choose the word with suffix that denotes a state of being.
1. action

2 kindness
3. tireless
4

clearly

Read the following passage.

Hachiko was a Japanese dog. It was given to a professor as a
gift. The professor would take the train to his work and come
back by evening. The dog also would follow him. One day the
professor did not return as he died of some health problem. The
dog would visit the railway station for his master daily.
Hachiko waited for his master for almost ten years and died.

This passage is about

1. the greatness of Japanese dogs

2 the love and loyalty of a dog

3. a dog’s regular visit to the railway station
4 the greatness of the professor



&4.

85.

86.

87.

Read the following passage.

Hachiko was a Japanese dog. It was given to a professor as a
gift. The professor would take the train to his work and come
back by evening. The dog also would follow him. One day the
professor did not return as he died of some health problem. The
dog would visit the railway station for his master daily.
Hachiko waited for his master for almost ten years and died.
This passage supports the following statement/ proverb.

1. All that glitters is not gold.

2 In every country dogs bite.

3. The dog is a faithful animal.
4

Every dog must have his day.

The poet who chronicled the history of England was
1. John Keats

2 Shakespeare

3. Sarojini Naidu
4

A.K.Ramanujan

The following is a two-way process.

1. Listening to evaluate

2 Listening to solve problem
3. Listening to communicate
4 Listening for enjoyment

Reading the headings to understand the main point is

1. a technique of skimming

2 a method of communicating

3. a technique of scanning

4 a technique of intensive reading
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Stage directions are a part of writing
l. a diary

2 a drama
3. a letter
4

a description

The following explains the relationship between acquisition
and learning.

1. the input hypothesis

2 the natural order hypothesis
3. monitor hypothesis

4 affective filter hypothesis

The following anticipates the problems in teaching before they
happen during the class.

1. A lesson plan

2 Teacher’s diary

3. Teacher’s handbook
4

Teacher’s Assessment record
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Mathematics

Using the digits 1, 2, 3, 4 without repetition the greatest 4 digit
number that can be made is
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1 4321
2 4312
3. 4213
4 4231

The number 2146587 is divisible by
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1 7
2 3
3. 11
4 14
Find the value of _—1x£+l—§xl
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The length and breadth of the upper portion of a table are
160 cm, 90 cm, how much length of beeding is required
(in centimeters)

2.8 Send PerKo KD, Sesenyen SR 160 ..
90 0.2, TR WHET @0 K0 Jod P& DEOR
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1 560
2. 500
3. 250
4 125

Which of the following is not a leap year
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1 2026
2. 1996
3. 1986
4 2024

An angle is 16° more than its complementary then
its measure is
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l. 52°
2. 53¢
3. 54°
4. 55°



The ratio of 9 days : 3 weeks
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Diagonals of a Rhombus are d;, d, then its area (in Sq.units)
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Square root of 62500

62500 B, SEHTFe0

If a person covers 28 km. on bicycle within 2 hours then the
same person on bicycle recovers 70km. in

2.5 558 235 28 3.0, 8508 2 Howed® TH. ©B
358 2365 70 8.20. SrE508 KoeroS® B

The cost of each fan is Rs. 1500 then the cost of

1
2.
3.
4

1
2.
3.
4

620
500
250
350

W A N W

n fans (in rupees)
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1500 n

1500
n

1500 +n
1500 - n
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The degree of linear equation
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1 1
2. 2
3. 3
4 4

Find the least number which when divided by 18, 24, 30 and
gives remainder 14, 20, 26 respectively then the number is

9 5 vopgs> 18, 24, 30 O APAODSHE SEdM°
14, 20, 26 @0 F207 S

1 364
2. 360
3. 358
4 356

If _1_363 is divided by ‘x’, we get _TH then ‘x’ =

_1—363 3o x’B GRS _TH 52008, ©and ‘x’=
L2
4
2 2
3
R
3
4 2
3



106. Malik sold a table for Rs.3000/- and his percentage of profit is
20% the cost price of table is (in rupees)

5008 2.8 E52065y S. 3000/ - O 20% o0 FoBS
es 532335?@ 30 (Er>raHos)

1 2500
2. 2600
3. 2700
4 2800

107. The line segment which drawn perpendicularly from the
opposite vertex to the base of the triangle is

1. altitude
2. median
3. angle bisector
4. bisector

(©20z0") 28 880 5000 AHE 1A ADS oty
L &nd

2. 53&5§Ke§8g)

3. &% 26353&5&30&52683)

4. 26353&5&)0&5?683)

108. 1 litre in cubic cm

1 dersH s ?ooesﬁsoeogess

1 10

2 100

3. 1000
4 10000



109. At what rate the principle becomes 3 times in 16 years

110.

111.

Needd O Bews 16 :60;5636"0636 9000 507G 0SOKISD.

l.

2.

Lower bound of 10-20 is the class interval 0-10, 10-20, 20-30...

101%
2

10%
121%
2

lll%
2

0-10, 10-20, 20-30... &° 10-20 SEKS OKS T

1
2.
3.
4

10
10.5
20
20.5

A 7 cm. wide path is around and outside of circular
grassland, which is having 42 cm., radius, then the area of
the path is (in Sq. cm)

42 Q0. TGP0 SORS SyToseS KG 2 oty 2xcioes
7 . Isen) ety Sotk. we TS0 (57200.0.08°)

1
2.
3.
4

2002
2004
2022
2021



112.

113.

114.

Add 3x* + 5x — 4 and 6 + 6x°
32+ 5x — 455 6+ 6378 Sendne

1 3P +2x+5
2 Ox* + 5x + 2
3. 4+ 5x +2
4 Ox* — 5x -2

If we know only one side then we can construct the following
l. Square

2. Rhombus

3. Rectangle

4. Parallelogram

$500 2.8 2hmo FosH 3RS (08 TS BIV A o8R0

1. M blelvele)
2 oro2dD
3.  Bysensipo
oD
4 PONSloTx Yo 6&3&23230

AABC=AZYX then ZA =

AABC=AZYX oS LA =

1. X
2. ZY
3. Z7
4. ZXYZ



115.

116.

Maths Methodology

The software useful to teach mathematics is
1. Bhuvan

2. Tuxmath

3. Team viewer

4. Read along

Keds S50 ososdhy FEI6

L oSS

2. oSr§

3. 8% Foges
4. 8& derok

‘Making Models’ is the specification of
1 Knowledge
2 Understanding
3. Application
4. Skill

THrTer SCTHBANE0 @SB B )RS

1. 2°50

=y
2. [DINanoeiin
3. SINIeverafe)
4.

g‘@mso



117. According to August Comte mathematics is

118.

1.
2.
3.
4.

Science of quantity
Science of indirect measurements
draws conclusions

Science of estimation

3K 'R (PS°80 Kedso e
e e

1.

L

DO Q0

D8°g SIS Ko

QTP T°20¢)850
(@] (]

©OWUI® QO

Number system used in computer programming is

1.
2.
3.
4.

D-7 system
Unitary System
Binary system
D-10 system

S0l (FUroRs’ GHETA0S vogrgsrSo

1.

Ll

JFOFITS0
NS0 ¥STS0
5303boar§;55°€60
8B°0FS°S0



119. In 5E learning model the 2" E represents
SE 25508 S50raS” 25 E 800080080

1 Engage
2 Explore
3. Explain
4 Elaborate

120. This is not in mathematics box
1. Cuisenaire strips
2. Napier strips
3. Maths dictionary
4. Peg board
Kedes wedsS® BAO

L oRdanf sge
I8 BeJew
KIS Dooen)
R 5

- W N



EVS

121. The scientific name of Silk moth is
1. Apis mellifera
2. Bombxy Mori
3. Cimex lectularius
4. Lacifer lacca

“ “ 5
DEPYLKS QA T°00

1. 05 o
(ep]
2. wo&% 308
3. _2’053% B8N
< (%!
4. b0 0T

122. Scabies disease is caused by

1. Bacteria

2. Virus

3. Micro arthropod

4. Protozoan

TS (Kg) 50 SSMEARNTA
1L a§ocsr

2. e

3. D& @5@8355:
4. @SS



123.

124.

The average weather pattern taken over a long time, say 25
years is called

l. Weather forecast
2. Weather report
3. Climate

4. Atmosphere

2.8 (rosos’ 5%@@0@@, @08 oY 25 VoSBT
&O% FPESBEY (80

1 JPSPITEI SN0 DI TO
FESEed IS
3S°908

- W N

JPFCISBEIND

The book ‘Vrikshayurveda’ was written by

1. Charaka
2. Sushruta
3. Vagbhata
4. Parasar

ST @ YO (TSI

1. BB
2. HHEE
3. JeRzIeT
4. popl:lo]



125.

126.

The muscular structure in eye which adjusts the size of the
pupil is

1. Iris

2. Cornea
3. Retina
4. Sclera

£0dS® arsE DOSTETR) 08T D Kok Do )30
1. LoD
HESL0

(qp]

(D00

L

SYERT0

Example for unisexual flower is

1. Ipomoea
2. Hibiscus
3. Datura

4. Cucumber

NEOoK DXYS &rrrves
1. SEEIJren

oS

éﬁo&e_ﬁo

&%

L



127. Equilibrium of the body is maintained by
l. Cerebrum
2. Diencephalon
3. Cerebellum
4. Medulla Oblongata
B D0RBI JcHo@oB8

1. 3,0

2. csisdﬁsgo

3. eaéossoio;agro
4, mwgsﬁwaao

128. Identify the correct order of process skills in Science
1. Observe — Compare — Classify
2 Compare — Observe — Classify
3. Classify — Observe — Compare
4. Observe — Classify — Compare
PR VI FYETEOD SWIE0S® oSGy
L 208900 — FeyEo — S8sdowEo
FeyEo — H8BDoTEO — $BEBoWEO

;5/8\§aoi§c:€o — %88dos%0 — ﬁseh)c:io

- W N

H0880s5E0 — 35/8\§5015C§O — Ssel)c‘.io



129. In human beings, the place where fusion of sperm and ovum
takes place is

1. Uterus

2. Ovary

3. Graffian follicle

4. Fallopian tubes

S5r59eS° HIEEe0 woiod® 5T (HPBI0

.|_\

?ic:)r‘éoﬁoo
@g)&gsr‘o‘o
00 9IS

L

@ Bos o230

130. A group of stars which contains millions of stars are called

1. Universe

2. Galaxy

3. Constellation
4. Comet

DO §'od SE(E 0 Ko DY HOYOD JT° ©OETO.

1. ;’)r‘oigo

2. ﬂ@%\)

3. SEBoHe
4. SEDY



131.

132.

The material obtained by mixing the mineral kaolinite with
water

1. Glass
2. Plastic
3. Metal
4. Clay
SO pzo NBS” susto Sy sy DTYo
1. nee
2. FNE
[qp M)
3. S0
4. zao§;5353°)

Metal which is not sonorous

1. Mercury

2. Iron

3. Copper

4. Aluminum

G5 K30 8 Sorgo

1. FEE0
2. QoS
3. O°RA

4. eawsibfi)oﬁoga



133.

134.

Social Studies

Ghata Prabha, Mala Prabha are the tributaries of
1. River Godavari

2. River Mahanadi

3. River Krishna

4. River Ganga

DR, Soolpd BIS &RSen

1. Rors58
2. INSROLATA)

3. §°)%(6&

4. KomeSs

Find out the correct order of Earth, Moon and Sun in a row
during the Solar Eclipse

1 Sun — Earth — Moon

2 Moon — Sun — Earth

3. Earth — Sun — Moon

4 Sun — Moon — Earth

RPEHed 935000 s, SO, RILF Book), S
B0

1. 265‘*635&53 - 233Pa) - WO

WOCe - 65%535&33 - Z5°

e - és"do?sdo - WO(GaEH

L

Kogetd - SOl - A



135.

136.

In Chola Inscriptions, “Shalabhoga” means

1.
2.
3.
4.

land gifted to Brahmins
land gifted to temples
land donated to Jain institutions

land for maintenance of a school

S RIS “eotK” esm

.|_\

(2R EN O DTVHET J)S 2Iread
BTOEre® TS NS Fo°W
B V0RO IO JU)S 2

FETO IS TETra00DS &

Palegars in the Rayalaseema region were suppressed by this
British Governor General

l.

Thomas Munro

2. William Bentink

3. Warren Hastings

4. Sir Arthur Cotton

TPAHODD (FOL0S FBTHD wedIVS DS
mscg)g 2355

L &5 B

2. DOHH Boedo§

3. &8 ok

4 95 ogs S



137. In 2016 Olympics P.V. Sindhu won this medal

1. Copper
2. Silver
3. Bronze
4. Gold

2016 e,éJoza%eS*“ 2.9, 20 RODS HDe$EO

1. o°A

2. 308

3. {oInb)

4. 220180

138. In the Mahajanapada period, the workers worked in the farmers
fields and homes were called

1. Dasas

2. Bhartukas

3. Grihapatis

4. Gahapatis

SIS F0d o Ford, 3R DITOID

1. P00

s W N
e
g b
2
&
¢



139. The word Sulh-1-Kul means

1. God is one
2. All are equal
3. Universal adult Franchise
4. Universal peace
206 -3-5S S
oJ°
1. B> w8 @
2. 9088 DJ7°S0
3. b"t{s@iﬁ NGUNENATEOR
4.

3)%3%“0@

140. Identify the dynasty that did not participate in the tripartite

struggle

1. Gurjara - Pratihara
2. Rashtrakuta

3. Chola

4. Pala

BXr8E Foreros® 8 oreso¥o
L KrgE - (985S
I~
O°(QETed
S
T

- W N



141. Gandhiji gave the slogan “Do or Die” in this movement
1. The Home Rule Movement
2. The Vandemataram Movement
3. The Quit India Movement
4. The Non-Cooperation Movement
woR2 “BaHod Bor TrI0s” &S TS0 S &350

1. FPosrS &350
$50BSTe8E0 (:—36553530
§5e§ OGS €583550

L

D583 QoeEses edssﬁoo

142. Identify the wrong principle of Ashoka’s Dharma
1. Be kind towards animal
2. Criticise other religions
3. Respect the elders
4. Be kind towards the poor
038 8y WrEred” SYYT ) R KHY0S0E.
1. 2OBIO D& $5058° &omd

JBL SO Z);Soa?}om@

‘:‘,acg@:éo ReEA0w°d

L

DS RIM 3058° &omd



143.

144.

145.

Virupaksha temple is located at

1.
2.
3.
4.

Orugallu
Ellora
Hampi

Thanjavur

ErIrE BIO0 JOE) (BF0

1.

2
3.
4

S.50Ke0
™
R Yex
™
5°0

502300

Permenant settlement was introduced in

THS B3 ATAD 2.9)0850 (FIFDYS H0SSBY50

1
2.
3.
4

1763
1773
1783
1793

The number of Academic Standards prescribed for
Environmental Science of the primary classes.

FPEWE SEXSSE™D HBI0°e pIo §790 W0
é’)cs"ag@;srm@ éospg

1
2.
3.
4

N N n s



146. One of the following programmes that can take school to the
Society.

147.

1.
2.
3.
4.

Organizing Science Fairs
Organizing rallies to create awareness in public
Interactions with the doctors, engineers etc.

Students discussion on social problems in the classroom

808 TUS° 258 FEFoH v5ru0S’S HWIY) SEyEHo

1.
2.
3.
4.

PRyPond AKEroTEo

(B8 ©SrS §9)0B0H% orgdes AK0EE0
G, 308G $08 FOE° $59) 00

D IPES PRV TG SEKAKBS” $8)0SE0

The State authority which is useful for teachers to inform the
children about the disasters in advance

DB 80D S0EY VITTEO WOBOTEO @R JAGHO
5800 29e%H BOALBEIS SO SIRE EDDKDE

ool AP0 Do
(o] (o]

1
2.
3.
4

SDRF
NDRF
NIDM
SDMA



148. The following aspect does not come under Cognitive Domain
1. Analysis

2. Synthesis

3. Imitation

4. Comprehension

2RSS 08 H020¢50 B @o¥o

=y
1. DFAE?
(qp]
2. DOBAE?
(qp]
3. 08T
4, SISO

149. The word “Curriculum” was derived from this language

1. Greek
2. Latin
3. Arabic
4. French

KOKIO0’ 9D VB0 Ba T SH0D) aq):;)oaoa.

1. S

2. o8&
3. e8DE
4. (@0



150.

“Paying taxes in time” is related to

1
2.
3.
4

Intellectual value
Vocational value
Cultural value

Moral value

“DSNOD ST ON 3Qoiseo” 88 1025080958
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